
Exercises
E9.5 [29Z]Difficulty:*.Let 𝑛 ≥ 3 integer; consider a polygon of 𝑛 + 1

vertices. Show that it can be cut in two polygons, one with ℎ and
one with 𝑘 sides, and 3 ≤ ℎ ≤ 𝑛, 3 ≤ 𝑘 ≤ 𝑛. By ”cut” we mean,
two vertexes of the polygon (not contiguous) can be connected by
a line that is internal and does not touch other vertexes or sides.
The intersection of the two polygons is the segment 𝐵𝐷, they do
not have other points in common.
Hint. there is at least one vertex 𝐵 ”convex” in which the inner an-
gle 𝛽 is “convex” (i.e. 0 < 𝛽 ≤ 𝜋 radians); call 𝐴,𝐶 the vertexes
contiguous to 𝐵; reason on the triangle 𝐴𝐵𝐶.

Solution 1. [1QT]

https://coldoc.sns.it/UUID/EDB/29Z/
https://coldoc.sns.it/UUID/EDB/1QT

